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T mm
=SA37 A
LE 34l BSF 1510 E
2-M6x1.0P EIE 10
s BCD 15.5
NON\ 30 = 12.2
X =4 3.175
“]j : ﬁi@ EERS 254 1%
of 1 Jhid %r- i P Qzz
N “--\\4& /'"4[ Moo=
[ MesSg C3
7 N EM7IE T Z
34 SHSEM 0.0050(5t 0
/ 4-95.5 HOLE J|12S™Z515 : Ca (N) 6610 4160
$9.5 C/BDP 5.4
PCD 245 712882515 : CoalN) 12540 6275
3IMER3 (N - cm 2.00|5t 1.5~3
ZA (N/um) 139 126
g2lE M x AgES
- mrol mem | kg | B4
tHEO| SRt HE 3480 288
+0.012 0.008 0.030 0.837
+0.013 0.010 0.035 0.976 .
5
+0.015 0.010 0.045 1.115
+0.016 0.012 0.060 1.253
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¢ 15%20

—710.010[C] [Gls0.010[C} 2gom e [Z[0014[CH  []0.005EH
(e =X
62 - ’ 1235
gl 5012 E

xo o2 88, jE50 © _J} ge| _M12x1.0P-6g c§
23 8| Ros g el Ro3 &
2| ®| mAx S s 3 MAX 2

= =

F | 1.15 70" ‘R0.3§ E IJ—O—

9.15 3! MAX
| [0
0.003 5 ‘
5] 10, 30 15
22 L2 45
L3
AIRE ZHo|
HAM7|S AERT

L1 L2 L3
BSF1520AC3T-484 300 402 417 484
BSF1520AC3T-584 400 502 517 584
BSF1520AC3T-684 500 602 617 684
BSF1520AC3T-784 600 702 77 784
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— IT L wAN Say
=CtME [/ E=X10(C3)
£ :mm
A2 A1
HE &Al BSF 1520 A
2-M6x1.0P EIE 20
E=7) BCD 15.75
S ¥ fs 27 12.4
b 27 3.175
gl ti@ 324 158 19
3 (::\I\‘K\ /‘;::} AT 2GS RER
= Mzsa c3
3 N SM7IE T Z
= ZUBIEA 0.0050|5t 0
4-¢5.5 HOLE J|253HA5E : Ca (N) 4230 2660
®9.5C/BDP 5.4
PCD #45 7|28 ™A6E : CoalN) 7840 3920
3MER3 (N - cm) 2.00|5t 1~2
ZA (N/um) 85 77
glE ™M =
=2 Nt Bkg) | B4
HEO|S2R A HE £3589 =58
oo [ye)
+0.015 0.010 0.035 1.051
+0.016 0.012 0.045 1.190 i
+0.016 0.012 0.060 1.328
+0.018 0.013 0.060 1.467
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¢16X04

—7To.010]C] [©Je0.010[CH 2-2t01m & [~]0.014 [CH [~#10.005 [EH
(BE&T)
e a7 12 35
= 5 2N H M12x1.0P-6g S
2o °7 BS 1604 -] AR i A -
55 2| Ro3 s " o 7 Ros 2
2 7| waay g‘l- 5 8 MAX 2
i i T
I ] i I L
il
145500 — : 10
L[ 0.003 [E
— s! = |
L1 (A2gs]) 5[ 10 30 15
22 L2 45
L3
_ ASRE 2o|
A7 AEZ3

L1 L2 L3
BSF1604EC3T-339 200 257 272 339
BSF1604EC3T-439 300 357 372 439
BSF1604EC3T-539 400 457 472 539

100 | Hansan

> IT I X BAN SAy
=CtME [/ E=X10(C3)
£ :mm
A2 A1
HE &4l BSF 1604 E
2-M6x1.0P — 4
287) BCD 16.3
& il 27 13.8
N Zi@ =4 2.3812
o} SR 324 258 19
~ 7 NS
o RO Aazus oe=
TN\ 7T
ST HesSg C3
@ NN EN7IE T Z
36 ZHSHEAM 0.0050/3} 0
% 7|2SHA5IS : Ca (N) 4640 2920
~ PCDo4T 7|2HEZE : CoalN) 8530 4265
3MER3 (N - cm) 2.00|5t 1~2
ZA (N/um) 132 110
= ZZ=Alo| S=al QEC-,F(kg) L
OIS 25t HE =840 251
+0.012 0.008 0.030 0.815
+0.013 0.010 0.035 0.973 72
+0.015 0.010 0.045 1130
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$16X16 SCIINZE [ BER|1(CI)

T mm
EVEEPY
E 34l BSF 1616 A
—/10010[C] [O]#0.010[CH 2-240IH & []o014[ClH  [7]0.005 [E [ 45 SF 1676
( 2-M6x1.0P 2= 16
8% 125 . ‘jf*’ ] BCD 16.5
- o2 BS 1816 C:g,o ™ ge| Mi2x1opeg E 4 b =3 13.2
= g 3 E} ol T e N £7 3175
3 8| 4 o7 g\ e 2 ©8@) il )
s s S 4%\-\ ‘ 3|24 158 1€
= NN ] 5 R =h Aazus ogm
E LK i P l===1
= 14531 RO.3 = 10 ~T7 ST C3
d 9.15°3" MAX E] ;@H N EM7|E T Z
0.005 y S— 40 ESTEEN 0.005015+ 0
1010 30 15 F;ﬁ%ﬁ;gﬁ}& J|2E574515 : Ca (N) 4380 2520
B L3 ® PCD #51 7|2&EASE : Coa(N) 8230 3530
3MER3 (N - cm) 2.00]|5t
ZA (N/um) 85 68
A3EX 20 2lE M =
HA715 AEZ3 = &0 =2 TR | mmkg) | =2
L1 L2 L3 HEOISZ HE £3uo 258
BSF1616AC3T-371 200 284 304 371 +0.012 0.008 0.030 1.081
BSF1616AC3T—471 300 384 404 471 +0.013 0.010 0.035 1.239
BSF1616AC3T-571 400 484 504 571 +0.015 0.010 0.045 1.397 42
BSF1616AC3T—671 500 584 604 671 +0.016 0.012 0.060 1.555
BSF1616AC3T-771 600 684 704 771 +0.018 0.013 0.060 1.712

102 | Hansan Hansan | 103



#2010 SCIINZE [ BER|1(CI)

T mm
ZAIT A
Teoi[c] [OFootlcH soom e lomalcl,  [ZloseslEl HE & BSF 2010
CEESOYATY 2L 2le 10
2 g % Lo BCD 205
ol W BS 2010 § TF g wsaoreg  E \ =3 17.2
=3 I| Ros 3 o o 99 5 @ 3
2 3| e o o 1§ - W S T 5@\ %’éA 3.175
| I8 LN 324 257 19
] : N e i ASHtst o=z
ANl
1.15 914 _ KDY T eSS
G NGl (@FES)\ see2 c3
E / 4 ? H_ =2 T i Z
0.003 -] / 4-05.5 HOLE ZYSAEM 0.0050[5t 0
10].15 40 20 $9.5 C/B DP 5.4 7258 46t5 1 Ca (N) 8150 6990
= L2 80 RER#as 712HHASE : CoalN) 17150 11050
= SEES (N - om) 2000 | 25745
24 (N/um) 185 158
AJBE 20 2|c Mz =
Hapls e 8= 4o = 3 _ *ﬁﬂ-.E:: 22K(kg) =a
L1 L2 L3 HEO|SZ 25} M= =840 254
BSF2010EC3T-399 200 289 314 399 +0.012 0.008 0.030 1.538
BSF2010EC3T-499 300 389 414 499 +0.013 0.010 0.035 1.785
BSF2010EC3T-599 400 489 514 599 +0.015 0.010 0.045 2.031 68
BSF2010EC3T-699 500 589 614 699 +0.016 0.012 0.060 2.278
BSF2010EC3T-799 600 689 714 799 +0.018 0.013 0.060 2.524

% 2t u718E9 GTR 2010 EC3TSF YEAjefo] Aolal o] AIEAA| BelalAl7] Hhghc,
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1/To.010]C] [Qleo.010[C} sfoiy & [£]0.014[CH [~]0.005 [E}
)
&8

gé S9 M15x1.0P-6g -
59 «| BS2020 = L
W 5| Ro3 s Ros 2
N MAX MAX 3

i

|

F 1.15 3™ 15

10.15 *3"
0.003
25 L2 60
AJRS 20|
A |S AEZT

L1 L2 L3
BSF2020AC3T-520 300 410 435 520
BSF2020AC3T-620 400 510 535 620
BSF2020AC3T-720 500 610 635 720
BSF2020AC3T-820 600 710 735 820
BSF2020AC3T-920 700 810 835 920

106 | Hansan

— IT WBAN Sa
SHALE 1(C3)
T mm
2238 Mg
BSF 2020 A
2-M6x1.0P
(=287 20
& W 3p¢ 21.0
_ 16.8
B @) 3.969
4 LA 158 12
© TFey { =
;T_’ X C3
‘ T 7
46 -
L TGLE 0.0050]3t 0
#11 C/B DP 6.5 Z5t5 1 Ca (N) 6710 4230
REDERS : Coa(N) 12640 6320
2.00]|at 2~4
12 102
Z2|E ME
— - | Bk | B2
HEO|SH XL B =
+0.015 0.010 2.077
+0.016 0.012 2.323
+0.016 0.012 2.570 42
+0.018 0.013 2.816
+0.021 0.015 3.063
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